Goal: To use definite integrals to find the area bounded by two curves.



Theorem: If functions f and g are continuous on [a,b] and g(x) is less than or equal to f(x) for all x in [a,b], then the area bound by the graphs of f and g and the line x = a and x = b is ...

$$A = \int_{a}^{b} (f(x) - g(x)) dx \qquad (n+tation) \qquad (these are) \\ equivalent$$

$$A = \left(\lim_{n \to \infty} \sum_{i=1}^{b} [f(e_i) - g(i)] ax \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] ax \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] ax \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] ax \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] ax \\ C = x^{2} + x - 2 \\ C = x^{2} + x - 2 \\ C = (x - 1)(x + 2) \\ x = 1, x = 2 \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ A = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c} [f(e_i) - g(e_i)] dx \\ B = \left(\lim_{n \to \infty} \sum_{i=1}^{c}$$

$$= \int_{-\frac{1}{2}}^{1} (x^{2} - x + 2) dx$$

$$= \int_{-\frac{1}{2}}^{1} (x^{2} - x + 2) dx$$

$$= \left[-\frac{1}{2} \frac{x^{3}}{y^{2}} + 2x \right]_{-\frac{1}{2}}^{1} \qquad (y dx)$$

$$= \left[\left(-\frac{1}{2} - \frac{1}{2} + 2 \right) - \left(\frac{x}{3} - 2 - 9 \right) \right]$$

$$= \left(-\frac{2}{6} - \frac{3}{8} + \frac{12}{6} \right) - \left(\frac{x}{3} - 2 - 9 \right)$$

$$= \left(-\frac{2}{6} - \frac{3}{8} + \frac{12}{6} \right) - \left(\frac{x}{3} - 2 - 9 \right)$$

$$= \frac{7}{6} + \frac{10}{3}$$

$$= \frac{27}{6}$$

$$= \left(\frac{7}{2} \right)$$
(ex) Find the area between $x = 3 - y^{2}$ and $y = x - 1$

$$x = f(y)$$

$$x = y + 1$$

$$y = 1 + y = -2$$

$$y = 1 + y = -2$$

rectangle
area of
$$\left\{\begin{array}{l} A_{i} = \left[\left[3 - C_{i}^{2} \right] - \left(c_{i} + i \right] \right] \Delta Y$$

representative $\left[A_{i} = \left[\left[3 - C_{i}^{2} \right] - \left(c_{i} + i \right] \right] \Delta Y$
representative $\left[A_{i} = \left[\left[\left[3 - y^{2} - y + z \right] \right] \right] \Delta Y$
 $= \int_{-1}^{1} \left[\left[(3 - y^{2} - y + z) \right] dY$
 $= \left[-\frac{1}{3} y^{2} - \frac{1}{3} y^{2} + 2y^{2} \right]_{-2}^{1} = \frac{9}{2}$
Every definite integral can be set up as a double integral as follows...
 $A = \int_{a}^{b} \left[f(x) - g(x) \right] dx = \int_{a}^{b} \left[\int_{g(x)}^{y(1)} dy \right] dx = \int_{a}^{b} \int_{-2}^{y(1)} dy dy dx$,
 $since \int_{a}^{y(1)} 1 dy$
 $= \left[(y) \int_{g(x)}^{g(x)} dy \right] dx = \int_{a}^{b} \left[f(x) - g(x) \right] dx$